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5 |HEA R (el PR KB ) TNV T 7 15.82 | 6.54 22. 36
6 [FE REL (BERIE) NI IEA 15.68 | 6.60 22.28
7 |BEH R OKF %) U 14.28 | 6.06 20. 34
8 |&¥v =4 (R R E) =R 12.60 | 5.52 18. 12
ROUND1-G3
NEAE. 4 il i ¥4 TEC | ATH Total
IR B E e O\EZFE) N IEA 16.24 | 6.90 23. 14
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6 [ KB (FHINTAR) =X T — 15.12 | 6.24 21. 36
7 |HWF S (EHTI%) ==/ R 14.56 | 6.24 20. 80
8 |&HH e OKF#+) N IEA 13.58 | 5.64 19. 22
ROUND1-G4
JEHE. A Hi BT & ¥ 4 TEC | ATH Total
1 |Kk®E A (BRI R =20 T oEA 16.80 | 7.08 23. 88
2 |ARH ZEm (IR L) =3 K 16.66 | 7.02 23. 68
3 |TtE A (HALZE) ==/ R 16.52 | 6.96 23. 48
4 (@ A O\EFE) NI ay 16.24 | 6.96 23.20
5 Bk AEE (7 =5%) ==/ R 15.40 | 6.42 21. 82
6 I AR (WA ST AT S 3E) ==/ R 14.98 | 6.24 21. 22
7|1l FEE (b2 ) BT UEA 14.14 | 6.12 20. 26
8 |tkiEE HXK (VST L 5%) ==/ K 14.00 | 5.88 19. 88




ERLR—k

T E AR

50 B B A2 T AR
202146 4 12H ~13H
Jof P T 5 T 2 o] S

ROUND2-G1
JERE 4 Hi )& Y 4 TEC | ATH Total
LR B (B E5) R=TF—1L 17.64 | 7.44 25. 08
2 |THE A% (B EH) N—F—L 17.36 | 7.26 24. 62
30 UK EaL (FHINTFAR) A== 16.66 | 7.02 23. 68
4 |HepE = (TERT7-Pt) A 16.52 | 6.90 23. 42
5 (B B (BT 78 TVavTRTay 16.38 | 6.96 23. 34
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7R fth (K 3) TN T T 15.12 | 6.54 21. 66
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3 IARE M (B SZAE 136) NI ay 16.10 | 6.78 22.88
4 |8 HE (IR FALLE) Ny ay 15.68 | 6.96 22. 64
5 |WH = (R = B E) T 15.68 | 6.96 22. 64
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4 |BER R (B E2R) NR—=T =1L 17.50 | 7.26 24.76
5 |2k T (BRI -0 A2y vk ay 16.24 | 6.90 23. 14
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4 |EIRPERIEME | (BERS) T 16.94 | 7.20 24. 14
5 | SLEOHTE (#E) TE 16.66 | 7.14 23. 80
6 [BEFNEE— 7 () T 15.54 | 6.78 22. 32
7 | — (R0 Ny A HA 15.54 | 6.54 22. 08
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5| HRRERTE - [(FBEE) Tt 14.98 | 6.48 21. 46
6 (27 (HFHE) A 14.70 | 6.00 20. 70
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